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® 2x2-5x+6 @ 5x2-2x+5 ® 5x%2-4x+2
@7x2—2x+3 ® 7Tx*-3x+6
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(5x2 =3x+4) + (2x2 +x - 1)

=5x2-3x+4+2x2+x-1
=T7x2-2x+3
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D)10x2 +3 @ 1022 +x-3 ® 6x2+2x+3

@ 6x>4+x-3 ® 6x%-2x
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4 + x+3-A=-2x2+2x+3
A=(4x®>+x+3) - (-2x%> +2x+3) = 6x2 — x

JHEEA AR A 4x? + x+ 3+ (632 —x) = 10x2 + 3
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511 x 511 — 510 % 512 -2
=axa-(a-1)x(a+1)-2
=a’-(a®-1)-2
=a’-a*+1-2=-1
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x=y+2)(x-y+3)—(x+2y-3)2

- AR AR oA 0] AS0) F5 1 —3-641147 =9

-3 @6 @9 @ 15 ® 21

-y=A, x+2y=Bz&t5IH

(A+2)(A+3)— (B-3)?

A% +5A+6-B?>+6B-9
(x=9)2+5(x—-y)+6-(x+2y)2+6(x+2y)-9

X —2xy+y2 +5x-5y+6—x2 —4dxy— 4> +6x+12y—9
-3y? —6xy + 11x+ Ty -3




10. x=a(a+5<L W, (a-1)(a+2)(a+3)(a+6)= xo T3
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@2—36 @ x*-6 ® x*+6

@ x>+ 36 ® x2-12x+36
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x=a(a+5)=ad®>+5a%
(a=1)(a+2)(a+3)(a+6)
={(a-1)(a+6)} {(a+2)(a+3)}
= (a® + 5a - 6)(a® + 5a + 6)

= (x-6)(x+6)

=x%-36
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D S=a+1 @ S=a-1
@S:al @S*%l

l=(a+2r)n

S =(a+r)*n—nr?
= (a® + 2ar +r*)n —nr?
= (a* + 2ar)n
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(a+b+c-d)la-b+c+d)+(a+b-c+d)(-a+b+c+d)E
A7NskH?

D 3ac + 3bd @)4ac + 4ba ® 5ad + 5be

@ 4ad — 4bc ® 5ad - 5bc
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(a+b+c-d)(a-b+c+d)+(a+b-c+d)(-a+b+c+d)
={a+c)+b-d)H(a+c)-(b-d)}+{(b+d)+ (a—c)H{(b+
d) - (a-c))

=(a+c))-(b-d)?*+(b+d)?-(a—c)?

= a® + 2ac + ¢* — b* + 2bd — d? + b* + 2bd + d* — a* + 2ac — ¢*
= 4ac + 4bd
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4x+11y+17 = 9x+10y+15 =y ol Tote] A 2JotH y = 5x-2
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a-+ 2b = 6a—2b, ba = 4b
La:b=4:5




